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Parte Comun. Apartado A2 LENGUA EXTRANJERA (INGLES)

ANSWER KEY

1. Answer the following questions. Write complete sentences.
(1 point each = 2 points)
Possible answers:

a) He thinks technology is eating his family because with the introduction of the Internet and new gadgets, there is less face to
face contact / they spend less time doing things together.

b) The last member of the family to become technology-dependent is himself (the author / the writer). He is always tweeting and,
in the evening, he plays Scrabble online with a friend.

2. Underline the best option
(0.5 points each = 1 point)
a) 2. worried because his family spends less time in face to face contact.

b) 1. the internet can have a negative impact on his family life.

3. Find a synonym in the text for these words (0.5 points each = 1 point)

a) boring = monotonous b) not better = worse

4. Are the following sentences true or false? Underline the correct option

(0.5 points each = 1 point)

a) Now, her wife is taking the computer to bed when they go to sleep. FALSE

b) Since Christmas, her daughter spends most of her free time playing games on her tablet. FALSE

5. Write a text 60-80 words long (5 points)

Assessment criteria to be taken into account:
- Content and organization

- Grammar

- Sentence structure

- Vocabulary

- Spelling

- Punctuation

CRITERIOS DE EVALUACION Y CALIFICACION

- La calificacién de esta Parte o Apartado se adaptara a lo establecido en la RESOLUCION de 26 de marzo de 2013, de la Direccién
General de Formacioén Profesional y Ensefianzas de Régimen Especial, por la que se convocan pruebas de acceso a los ciclos formativos
de Formacién Profesional (DOCV 05-04-2013).




